

**BID2020-13 HETZEL FIELD POOL PARKING LOT FOR THE CITY OF TRENTON, DEPARTMENT OF RECREATION, NATURAL RESOURCES AND CULTURE BID OPENING 2/13/2020 AT 11:00AM**

BID2020-13 HETZEL FIELD POOL PARKING LOT FOR THE CITY OF TRENTON, DEPARTMENT OF RECREATION, NATURAL RESOURCES AND CULTURE		
NUMBER OF RESPONDENTS:	2	
NAME OF BIDDER	EARLE ASPHALT COMPANY	S&G PAVING, INC.
ADDRESS	P.O. BOX 556	224C FORSGATE DRIVE
CITY, STATE, ZIP	FARMINGDALE, NJ 07727	JAMESBURG, NJ 08831
CONTACT NAME	BILL MEAD	STANLEY J. WERCHRINSKI, JR.
TELEPHONE	732-308-1113	732-521-1986
FAX	732-308-1034	732-561-3104
E-MAIL	BMEAED@EARLECO.COM	SGSTAN@YAHOO.COM
BID GUARANTEE	10% FEDERAL INSURANCE COMPANY W.P.O.A/DONNA M. PLANETA	10% BONDEX INSURANCE COMPANY W.P.O.A/BRENDA TURIELLO
CONSENT OF SURETY	FEDERAL INSURANCE COMPANY	BONDEX INSURANCE COMPANY
PERFORMANCE BOND AND LABOR AND MATERIAL PAYMENT BOND	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS
NOTICE OF INTENT TO SUBCONTRACT	YES	YES
SUB-CONTRACTOR	FRESHCRETE MASONRY; NATIONAL FENCE SYSTEMS, INC.; WETLANDS, INC.; LC EQUIPMENT, INC.; DAN SWAYZE&SON; PURE SOIL TECHNOLOGIES, INC.	TRAFFIC LINES INC
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT B	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #1 DATE 2/3/2020	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED
NJPW CONTRACTOR REGISTRATION	CERT.#18315 EXP. 05/05/2021	CERT.#609363 EXP. 04/05/2021
NJ BUSINESS REGISTRATION CERTIFICATE FOR SUBCONTRACTOR	FRESHCRETE MASONRY(INCLUDED); NATIONAL FENCE SYSTEMS, INC.(INCLUDED); WETLANDS, INC.(INCLUDED); LC EQUIPMENT, INC.(INCLUDED); DAN SWAYZE&SON(INCLUDED); PURE SOIL TECHNOLOGIES, INC.(INCLUDED)	TRAFFIC LINES INC(INCLUDED)
EIC FROM CONTRACTOR	CERT.#5657 EXP. 12/15/2022	CERT.#59154 EXP. 05/15/2025
NJPW SUB-CONTRACTOR REGISTRATION	FRESHCRETE MASONRY; NATIONAL FENCE SYSTEMS, INC.(CERT.#53798 EXP.04/08/2020); WETLANDS, INC.(CERT.#606801 EXP. 10/3/2020); LC EQUIPMENT, INC.(CERT.#632898 EXP. 09/22/2021); DAN SWAYZE&SON(CERT.#16360 EXP. 04/20/2020); PURE SOIL TECHNOLOGIES, INC.(CERT.#657229 EXP. 05/02/2021)	TRAFFIC LINES INC9CERT.#604990 EXP. 03/24/2020)
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED
DEBARMENT NOTICED	INCLUDED	INCLUDED
EQUIPMENT CERTIFICATE	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED
PREVAILING WAGE STATEMENT	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	NO	YES
FIVE (5) REFERENCES	INCLUDED	INCLUDED
GRAND TOTAL FOR ITEMS#1-39	\$850,213.13	\$977,840.00
ALTERNATE B1 FOR ORNAMENTAL FENCE	\$14,700.00	\$39,375.00
ALTERNATE B2 FOR 40'HIGH FIBERGLASS FLAG POLE	\$16,200.00	\$10,000.00
EXCEPTIONS (IF ANY)	NONE	NONE
FATAL FLAW	NONE	NONE

# East Hopkint Company

## BID FORM - UNIT PRICES

HETZEL FIELD POOL PARKING LOT

190 NORTH OLDEN AVE.

CITY OF TRENTON, MERCER COUNTY, NEW JERSEY

### BID SCHEDULE:

The undersigned proposes to furnish all labor, equipment and materials as indicated below and as outlined in the plans and/or specifications. The Contractor is responsible for the construction of all items shown on the plans and/or indicated within the project Manual unless identified as "By Others".

BID ITEM #	SECTION DESCRIPTION	MEASURE	UNIT QUANTITY	ESTIMATE	UNIT PRICE	TOTAL PRICE
<b>A.</b>						
1	Site Demolition - includes mobilization and all demolition required to complete the project as per the construction documents	L.S.	1	\$XXX,XXX.xx	\$59,578.13	
2	Soil Erosion and Sediment Control Measures	L.S.	1	\$XXX,XXX.xx	\$2,900.00	
3	Site Preparation And Earthwork	L.S.	1	\$XXX,XXX.xx	\$80,000.00	
4	Off-site Disposal of Historic fill material	TON	1500	\$40.00	\$60,000.00	
5	Timber Guide Rail	L.F.	200	\$130.00	\$26,000.00	
6	Parking Area Striping	L.F.	1,300	\$2.20	\$2,860.00	
7	ADA Compliant painted markers	UNIT	3	\$60.00	\$180.00	
8	Stop Bar, 1' Wide	L.F.	15	\$13.00	\$195.00	
9	Traffic Arrow Marking	UNIT	10	\$30.50	\$305.00	
10	Ornamental Bench	UNIT	5	\$2,800.00	\$14,000.00	
11	Ornamental Trash Receptacle	UNIT	3	\$2,800.00	\$8,400.00	

Zone Asphalt  
Company

12	Metal Tree Grate	UNIT	4	\$4,150.00	\$16,600.00
13	Permanent Metal Bollard	UNIT	21	\$2,600.00	\$54,600.00
14	Rain Garden Educational Sign	UNIT	1	\$1,950.00	\$1,950.00
15	Galvanized Metal Chain	L.F.	105	\$1.00	\$105.00
16	Manual Double Leaf Swing Barrier Gate, 30' Wide	UNIT	1	\$5,750.00	\$5,750.00
17	Detectable Warning Strip	S.F.	15	\$40.75	\$611.25
18	Mercer County Concrete Driveway Apron	S.F.	350	\$14.30	\$5,005.00
19	Mercer County 9" x 18" Concrete Curb	L.F.	170	\$40.00	\$6,800.00
20	Mercer County Concrete Sidewalk	S.F.	1,500	\$11.25	\$16,875.00
21	Mercer County Full Depth Bituminous Concrete Driveway Repair	S.F.	500	\$18.00	\$9,000.00
22	Mercer County Depress Curb	L.F.	75	\$37.50	\$2,812.50
23	ADA Compliant Sign And Sign Post	UNIT	3	\$285.00	\$855.00
24	Traffic Sign	UNIT	1	\$250.00	\$250.00
25	Storm Inlet, Type A Inlet	UNIT	1	\$4,000.00	\$4,000.00
26	Storm Inlet, Type B Inlet	UNIT	1	\$4,500.00	\$4,500.00
27	12" Diameter Reinforced Concrete Pipe (RCP)	L.F.	150	\$100.00	\$15,000.00
28	Storm Manhole	UNIT	2	\$4,500.00	\$9,000.00
29	Modular Concrete Block Retaining Wall	S.F.	600	\$60.00	\$36,000.00
30	Cast-In-Place Concrete Stairs with Metal Handrail	L.S.	1	\$XX,XXX.XX	\$31,500.00

Came Asphalt  
Company

31	Depressed Curb	L.F.	750	\$26.50	\$19,875.00
32	6" x 18" Concrete Curb	L.F.	125	\$29.25	\$3,656.25
33	Full Depth Bituminous Concrete Parking Surface	S.F.	25,000	\$5.25	\$131,250.00
34	Concrete Sidewalk	S.F.	6,500	\$10.50	\$68,250.00
35	Brick Pavers	S.F.	850	\$29.00	\$24,650.00
36	Brick Pier	UNIT	8	\$3,225.00	\$25,800.00
37	Ornamental Fence	L.F.	60	\$85.00	\$5,100.00
38	Landscaping	L.S.	1	\$XX,XXX.xx	\$73,000.00
39	P.S.E.G. Electric Allowance No. 1	L.S.	1	\$XX,XXX.xx	\$23,000.00
Total Base Bid Amount:				\$850,213.13	

## 1. Total Bid Amount

\$850,213.13

Eight hundred fifty thousand two hundred thirteen dollars & thirteen cents  
(Write Price in Words)

**B. Alternates\***

<b>ADD-ALTERNATE "A" Ornamental Fence</b>	
B1	Ornamental Fence

**ADD-ALTERNATE "B" 40' High Fiberglass Flag Pole**

B2	40' High Fiberglass Flag Pole	UNIT	2	\$8,100.00	\$16,200.00
----	-------------------------------	------	---	------------	-------------

\* The Contractor will be responsible for reviewing the specification section 01 23 00 - Alternates for detailed information. The signee acknowledges that the total price for each task listed in the Add-alternate item B1 may be added to Parking and Entrance Plaza Improvements at Heizel Park total base bid price at the City of Trenton sole discretion.

Signature



Brian M. Cooper, PE

Title Manager of Engineering

Date February 13, 2020

**Notes**

Allowances will only be used for work directed by the Engineer. All work paid under the allowance must be authorized by the Engineer prior to construction of such work. No payment shall be made for any unauthorized work.

It is understood that the Total Price for the entire contract stated by the undersigned in the schedule is based on the estimated quantities and will control in the awarding of the contract. Bidder acknowledges that estimated quantities are not guaranteed, and are solely for the purpose of comparison of Bids, and final payment for all Unit Price Bid items will be based on actual quantities provided, determined as provided in the Contract Documents.

It is further understood that the following procedure will be used to correct numerical discrepancies found in the BID SCHEDULE:

If it is found that the written Total Price for the entire contract is found to have been incorrectly computed, then changes will be made to the Total Price so as to attain conformity with said Unit Price before the contract is executed.

City of Trenton  
Hetzell Field Pool Parking Lot, BID2020-13  
February 13, 2020

## **SUBCONTRACTORS**

Freshcrete Masonry  
82 Colonial Court  
Galloway, NJ 08205  
Telephone: (609) 594-7021  
Fax: (609) 228-6105  
Trade: Concrete  
License No. N/A

National Fence Systems Inc.  
1033 Route One  
Avenel, NJ 0700  
Telephone: (732) 636-5600  
Fax: (732) 636-5605  
Trade: Fence & Guiderrail  
License No. N/A

Wetlands, Inc.  
569 N. Midland Avenue  
Saddle Brook, NJ 07663  
Telephone: (201) 265-1099  
Fax: (201) 857-0543  
Trade: Landscaping & Tree Removal  
License No. N/A

LC Equipment, Inc.  
394 Rte. 49, Box 595  
Tuckahoe, NJ 08250  
Telephone: (609) 628-1800  
Fax: (609) 628-1987  
Trade: Signs  
License No. N/A

Dan Swayze & Son  
2351 Waldheim Avenue  
Scotch Plains, NJ 07076  
Telephone: (908) 789-1336  
Fax: (908) 789-7232  
Trade: Striping  
License No. N/A

Pure Soil Technologies, Inc.  
655 S. Hope Chapel Road  
Jackson, NJ 08527  
Telephone: (732) 308-1113  
Fax: (732) 657-9230  
Trade: Recycling  
License No. N/A

S & G Paving, Inc.  
224C Forsgate Drive  
Jamesburg, NJ 08831



**BID FORM - UNIT PRICES**

HETZEL FIELD POOL PARKING LOT  
190 NORTH OLDEN AVE.

CITY OF TRENTON, MERCER COUNTY, NEW JERSEY

**BID SCHEDULE:**

The undersigned proposes to furnish all labor, equipment and materials as indicated below and as outlined in the plans and/or specifications. The Contractor is responsible for the construction of all items shown on the plans and/or indicated within the project Manual unless identified as "By Others".

BID ITEM #	SECTION DESCRIPTION	UNIT MEASURE	ESTIMATE QUANTITY	UNIT PRICE	TOTAL PRICE
<b>A.</b>					
1	Site Demolition - includes mobilization and all demolition required to complete the project as per the construction documents	L.S.	1	\$XX,XXX.xx	<del>30,000.00</del>
2	Soil Erosion and Sediment Control Measures	L.S.	1	\$XX,XXX.xx	<del>5000.00</del>
3	Site Preparation And Earthwork	L.S.	1	\$XX,XXX.xx	<del>60,000.00</del>
4	Off-site Disposal of Historic fill material	TON	1500	<del>75.00</del> <del>262,500.00</del>	<del>19,687.50</del>
5	Timber Guide Rail	L.F.	200	<del>85.00</del>	<del>17,000.00</del>
6	Parking Area Striping	L.F.	1,300	<del>2.50</del>	<del>3,250.00</del>
7	ADA Compliant painted markers	UNIT	3	<del>500.00</del>	<del>1,500.00</del>
8	Stop Bar, 1' Wide	L.F.	15	<del>50.00</del>	<del>750.00</del>
9	Traffic Arrow Marking	UNIT	10	<del>175.00</del>	<del>1,750.00</del>
10	Ornamental Bench	UNIT	5	<del>3,600.00</del>	<del>18,000.00</del>
11	Ornamental Trash Receptacle	UNIT	3	<del>1,850.00</del>	<del>5,550.00</del>

**S & G Paving, Inc.**  
**224C Forsgate Drive**  
**Jamesburg, NJ 08831**

12	Metal Tree Grate	UNIT	4	2,500.00	10,000.00	<i>per unit</i>
13	Permanent Metal Bollard	UNIT	21	1,800.00	37,800.00	<i>per unit</i>
14	Rain Garden Educational Sign	UNIT	1	450.00	450.00	
15	Galvanized Metal Chain	L.F.	105	65.00	6,825.00	
16	Manual Double Leaf Swing Barrier Gate, 30' Wide	UNIT	1	7,500.00	7,500.00	
17	Detectable Warning Strip	S.F.	15	45.00	675.00	
18	Mercer County Concrete Driveway Apron	S.F.	350	15.00	5,250.00	
19	Mercer County 9" x 18" Concrete Curb	L.F.	170	32.00	5,440.00	
20	Mercer County Concrete Sidewalk	S.F.	1,500	12.50	18,750.00	
21	Mercer County Full Depth Bituminous Concrete Driveway Repair	S.F.	500	6.50	3,250.00	
22	Mercer County Depress Curb	L.F.	75	32.00	2,400.00	
23	ADA Compliant Sign And Sign Post	UNIT	3	450.00	1,350.00	
24	Traffic Sign	UNIT	1	450.00	450.00	
25	Storm Inlet, Type A Inlet	UNIT	1	2,500.00	2,500.00	
26	Storm Inlet, Type B Inlet	UNIT	1	3,000.00	3,000.00	
27	12" Diameter Reinforced Concrete Pipe (RCP)	L.F.	150	75.00	11,250.00	
28	Storm Manhole	UNIT	2	3,200.00	6,400.00	
29	Modular Concrete Block Retaining Wall	S.F.	600	42.00	25,200.00	
30	Cast-In-Place Concrete Stairs with Metal Handrail	L.S.	1	\$xx,xxx.xx	10,000.00	<i>per step</i>

31	Depressed Curb	L.F.	750	32.00	24,000.00
32	6" x 18" Concrete Curb	L.F.	125	32.00	4,000.00
33	Full Depth Bituminous Concrete Parking Surface	S.F.	25,000	7.50	187,500.00
34	Concrete Sidewalk	S.F.	6,500	13.50	87,500.00
35	Brick Pavers	S.F.	850	28.00	23,800.00
36	Brick Pier	UNIT	8	1,500.00	36,000.00
37	Ornamental Fence	L.F.	60	225.00	13,500.00
38	Landscaping	L.S.	1	\$XX,XXX.XX	15,000.00
39	P.S.E.G. Electric Allowance No. 1	L.S.	1	\$XX,XXX.XX	\$23,000.00
Total Base Bid Amount:					

1. Total Bid Amount

\$977,840.00

Nine hundred seventy seven thousand eight hundred forty  
 (Write Price in Words)  
 dollars and zero cents.

S & G Paving, Inc.  
224C Forsgate Drive  
Jamesburg, NJ 08831

**B. Alternates\***

**ADD-ALTERNATE "A" Ornamental Fence**

B1	Ornamental Fence	LF	175	225.00	39,375.00
----	------------------	----	-----	--------	-----------

**ADD-ALTERNATE "B" 40' High Fiberglass Flag Pole**

B2	40' High Fiberglass Flag Pole	UNIT	2	5000.00	10,000.00
----	-------------------------------	------	---	---------	-----------

\* The Contractor will be responsible for reviewing the specification section 01 23 00 - Alternates for detailed information. The signee acknowledges that the total price for each task listed in the Add-alternate item B1 may be added to Parking and Entrance Plaza Improvements at Heitzel Park total base bid price at the City of Trenton sole discretion.

Signature



Title

Engenier

Date 2/3/2020

**Notes**

Allowances will only be used for work directed by the Engineer. All work paid under the allowance must be authorized by the Engineer prior to construction of such work. No payment shall be made for any unauthorized work.

It is understood that the Total Price for the entire contract stated by the undersigned in the schedule is based on the estimated quantities and will control in the awarding of the contract. Bidder acknowledges that estimated quantities are not guaranteed, and are solely for the purpose of comparison of Bids, and final payment for all Unit Price Bid items will be based on actual quantities provided, determined as provided in the Contract Documents.

It is further understood that the following procedure will be used to correct numerical discrepancies found in the BID SCHEDULE:

If it is found that the written Total Price for the entire contract is found to have been incorrectly computed, then changes will be made to the Total Price so as to attain conformity with said Unit Price before the contract is executed.

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE)**

NAME Traffic Lines Inc.  
ADDRESS 5100 Asbury Rd.  
CITY, STATE, ZIP Farmingdale, N.J.  
TELEPHONE: 732-919-3100  
FAX NO. 732-919-3101  
TRADE Striping  
LICENSE NO. ATTACHED.

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_